D1vISION WITH A REMAINDER II (H - SET 3)

DIVISION WITH A REMAINDER Name:
Time: Score: A
331 18590 + 2 = 316) 1810 +2 =
332) 36345 + 5 = 3 53711 +7 =
333 3771 -4 = 318) 7139 =1 =
339 60256 + 7 = 319) 4052 +5H =
335) 29403 + 6 = 3500 14018 + 2 =
336) 7495 +9 = 351 69888 + 8 =
337 36895 + 8 = 352) 29953 +4 =
338) 55146 + 6 = 353) 45735 + 8 =
339 50982 + 6 = 354 27067 +4 =
310) 18432 =— 7 = 355) 52452 =9 =
sy 37923 +4 = 356) 25899 + 3 =
312) 35061 + 7 = 71 13996 + 2 =
33 4057 + 1 = 358) 7469 + 6 =
319 5296 + 1 = 359) 30003 =4 =
35 10785 +5 = 360) 35263 + 6 =
Mathematics: Division - Level § - Horizontal - Set 3 13 uluy
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